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(What are the similarities and dissimilarities between the functions of 'A' class and 'B'
class banks?)
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{Banking services provided by banking and financial institutions are supporting to create
healthy economic environment. Expalin.)
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(What is financial literacy? How can the financial literacy help in development of
banking sector?)
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(Differentiate between money market and capital market. Explain their importance in
Nepalese context.)
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(How are internal check, internal control and internal audit supplementary of each
other?).
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(What provisions has been made about Inventory Management and Depreciation
Management in Nepalese Government Accounting System?)
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(Why is the role of filing and indexing vital for Record Management of an office? For this

what type of filing and indexing methods can be adopted?)
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(If the sum of money becomes Rs. 7,260 in 2 years and Rs. 7,986 in 3 years when
compounded annually, find the sum and the rate of compound interest.)
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(If 6 men, 8 women and 16 boys together can do a piece of work in 288 days by working
6 hours each day, in how many days can 12 men, 18 women and 28 boys complete the

same work by working 8 hours each day? The work efficiency of men, women and boys
is in the proportion 3:2:1 respectively?)
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(The breadth and height of a window are 70 ¢cm and 100 cm respectively. In addition,

the upper part of the window is semi-circular. How much does it cost to put glass in the
window at the rate of Rs. 2,000 per square meter?)
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(Find the arithmetic mean from the data given below.)
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1%. What is database? Explain how database is used in banking system. A+3=Y
9%. Write the difference between Internet, Intranet and Extranet. y
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(A large number of Nepali citizens are abroad in search of employment. They have been
contributing outstandingly to the balance of payment of the country through
remittance. In your opinion, how far is it appropriate for Nepal to have excessive
dependence on remittance? What should be done for an alternative to remittance in
the longrun?)
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{What is economic development? What are the challenges of economic development in
Nepal? Explain.)
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(Analyze the role of the World Bank, International Monetary Fund and Asian
Development Bank in the development of Nepal.)
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(Describe the national objective and national strategies of the current fifteenth plan of
Nepal.)
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(What is leadership? How can a leader motivate the employees working in an
organization? Describe.)
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(Highlight the importance of communication in an organization. Write down the
different ways of communication within the organization.)
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(Mention the concept of industrial relations. Describe how collective bargaining
supports to solve the disputes between management and workers.)
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(Mention the structure of state and distribution of state power as per the Constitution
of Nepal. What constitutional provisions are there for maintaining interrelations
between federal units (Federation, Province and Local Level)? Explain.)
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(Write. down the objectives and functions of Nepal Rastra Bank according to the existing
"Nepal Rastra Bank Act.) Mk il '
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(How can the banks and financial institutions be liquidated as per the Banks and
Financial Institutions Act, 20737 Mention.)



